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Figure A34 Checking Limits Report

Appendicies

Choose which type of check you want to
T — X make, or choose “None” for no check.
Custom Duration T Seating Veloci}/ T Checking Limitz
) e — Choose if you want the check done on the

What to Check Which Lobefs] At this Lif in Limit Max Limit |ntake EXhaUSt or bOth |Obes

Check 1 [pyration | |Exhaust/ | [0~ | (230 | [240 | ’ i

Check 2 |Eenterline j |Intak >

Check 3 |Elose Ewent j |I%e ﬂ |-2|]|]\ | |4 | |B

Check 4 |L0be Separation j ntake&Exhauj 1055 | .. .

Check 5 [Home I— | Enter the Minimum and Maximum values
Peak. Lift i i i

Cheok 6 |Centeiine which are acceptable. Values outside this
| Lobe Separation

Chock 7 [T range will be flagged out in the report.
Open Ewvent

Check 8 | Close Event

Check 9 |none -

Check 10 fnons = Depending on your choice, you may be able

Check 11 None = to enter an “At this Lift” value, like Duration at

Check 12 {Kone ~ .100 tappet lift.

Help

Choose what type of check to make. or None for no check.
OK | Cancel | Help | Get Settings | Save Settings | Print |
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B9 Back Print Report Types  History Log  Single Test Mulkiple Tests  File  Help{F1)
Feport of: Col1, VYalve Data  Test Time: 11:33 am 06/08/2005  Ewentz Rated at 05" T appet Lift
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“Pass” means the value is within limits

—

Int Centerline Int Close Event [.200] |Exh Duration [.100] Exh Lobe Separation
Cyl 1 : —
102.00 = Pass 598 = Pass If the value is greater than the limit, the greater than
/ sign “>” is given with the acceptable limit it violated.
Cyl 2
102.04 = Pass 6246 233.77 = Pass 105.48 = Pass
Cyl 3
101.72 < 101.8 571 = Pass 234.59 = Pass 105.54 > 105.5
CPI 4 . . . . . . .
101.94 = Pass 76 =Fass If the value is less than the limit, the less than sign “<” is given with
the acceptable limit it violated.
Cyl 5
102.17 = Pass 5.40 = Pass 234.09 = Pass 105.80 > 105.5
Cyl 6
102 46 > 1022 599 = Pass 233 69 = Pass 10576 > 1055
Cyl 7
10217 = Pass 5 76 = Pass 23339 = Pass 10573 > 1055
Cyl 8
101.90 = Pass 5.71 = Pass 234.18 = Pass 105.51 > 105.5




